DUMPSEIES

Free Questionsfor 1Z20-808 by dumpssheet
Shared by Herring on 24-05-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

Given the following class:

age Nnot d or type unknown

Which three pieces of code, when inserted independently, set the value of amount to 100?

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D
E) Option E



F) Option F

Answer:

B,C E

Question 2

Question Type: MultipleChoice

Given:

age not d or type unknown

And given the commands:
javac Test.java
java Test

What is the result?



Options:

A) Java SE
B) Java EE
C) Compilation fails at line n1.

D) A NullPointerException is thrown at runtime.

Answer:

B

Question 3

Question Type: MultipleChoice

Given the code fragment:

age not d or type unknown

Which code fragment, inserted at line nl1, pints The Top element: 30?



age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D
E) Option E

Answer:

A

Question 4

Question Type: MultipleChoice

Which three statements are true about exception handling?



Options:

A) Only unchecked exceptions can be rethrown.

B) All subclasses of the RuntimeException class are recoverable.

C) The parameter in a catch block is of Throwable type.

D) All subclasses of the RuntimeException class must be caught or declared to be thrown.

E) All subclasses of the Exception class except the RuntimeException class are checked exceptions.

F) All subclasses of the Error class are checked exceptions and are recoverable.

Answer:

B,C E

Question 5

Question Type: MultipleChoice

Which code fragment causes a compilation error?



age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D
E) Option E

Answer:

D

Question 6

Question Type: MultipleChoice

Which three statements are true about the structure of a Java class?



Options:

A) A public class must have a main method.

B) A class can have only one private constructor.

C) A method can have the same name as a field.

D) A class can have overloaded static methods.

E) The methods are mandatory components of a class.

F) The fields need not be initialized before use.

Answer:

B,CF

Question 7

Question Type: MultipleChoice

Given the code fragment:



age not d or type unknown

Which two modifications should you make so that the code compiles successfully?

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D
E) Option E

Answer:

E
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